7N _
REEE & ERHER (20264 1= [ -5 5 6 (D S EmE) arl3 -2

HERERITR R 38 D6 FERREAERS
NO | iR EEHEEE L AR 7E Hh B = Al 97 PR X RRMDEE B—A E=Em%k (R6.7.1) J55 PR Fil A 3
E_E N P’ =g o = _E.:_FE_ | 4 =Y = Lt L, 4 = 100& ELF_J-

LS 35 %'\_'rji,ﬁﬁ =MH | BEH | BHH | KEFE | AFt %'\_'l{i,ﬁ.ﬁ SMH | BEH | BME | KEFE | A | BE |FEEH| A5t 1) fﬁr;’!;& RBRBR<
zosiﬁéggf) (A) 76 197 93 28 394

1 | £8 |SILFK+Fwmb = 2026¢(A$ﬁ§‘iﬁ) 33 A 33 79 66| 856 21.7] 72.9% | 78.4%
v (B) 109 164 93 28 394
s BB R B A 2 AR Rl 2035};}&352@;&) (A) 182 49 57 288

2 BEERREERtTY ST PRIy 30 74| 371 124| 59.0% | 59.0%
A—AEXEE LR 20265 (FHSFE) (g, 182 49 57 288
‘ 20254 ( %*mf) (A) 20 20

3 EE%E%A Al FREHT™ 9)513055%,,“ 3 1.8 48| 240| 94.7% | 94.7%
b 20265 (BFISF) (g, 20 20

20254 (FTHFI74)

(A) 8 40 27 6 81

4 | £E E%ﬁz,ﬁﬁwﬁﬂ%%?ﬁ& REE 9)513025%,5“ 7 1.6 86 106 946% | 94.6%
202545 (HFI74F) (A) 50 50

5 | £E |FTamiEILFER =L 9)513025%,.-% 5 1.7 6.7 134 39.2% | 39.2%
20264 (T FI8EF) (B) 50 50
zogiﬁégg?ﬁﬁ) (A) 38 86 28 46 198

6 | £% (IRBRRITRERKER TEH 2026¢('°‘$‘l]§“¢) 27 06| 276| 139 584% | 71.6%
v (B) 38 86 28 46 198
Zog‘ﬁéggf) (A) 76 425 318 132 80| 1,031

ke & RETy 33 A33 0 0 0 0

20265 (BFISF) (g, 109 392 318 132 80| 1,031

1/2~=2



P RE IR PR 28 T FERRERERS
NO | ERHEE 2 A 7E Hh ¥ 5 ) 97 PR 3K RARBDEE B—A EEEfi%k (R6.7.1) 973 PR FI R 3=
= ' p =y = = ; p ey = - - = 100K | &FAI
iS3 ,m'\_'rli,ﬁﬂ SMH | BEH | BUE | KEFE | A5 h'_lli =R | EER | IEBME KKEeF | &5 | B | FEEH| &5 st 1) Jﬁrz;’;& 1731738
ZOZ%E(’%EZEE) (A) 18 18
— _. - 9A30B KA % %
7 FTFaIIIY)=yo21 | &ElUh 20265 (S 18%E) ) " . 94.6% 94.6%
2025&(%@;&) (A) 6 6
- " - 9A30BK A
i SN = 13.5% | 13.5%
8 FEREER =l 2026 (S F18 ) ) . .
2025&(%@;&) (A) 19 19
. _ = 9A30BMK A
v | B 38.7% | 38.7%
9 FINTARILYY =Y | & 20264F (S F134E) . i I
20255 (HHITE) () 10 10
10 EREATRRRER TEH 9A30BK R 0.0% 0.0%
= RAER 20265 (HFISF) (g, 10 10 ' '
20255 (BHITE) () 6 6
11 MEREY =Y Tam 9A30HE 5.8% 5.8%
20264 (T F184F) (B) 6 6
2025&(%2;&) (A) 5 5
- g 9A30BAK R
i % 2.0% 2.0%
12 Tami/MrEER | Tam 20266 (SFB4E) . i - 3 3
20§5$(%*”7f) (A) 0 31 0 23 10 64
PR 3 H30REs 0 0 0 0 0 0
RZ TR =} PN
20265 (HHISHE) (g, 0 31 0 23 10 64
203%&35222@ (A) 76 456 318 155 90| 1,095
MREEEE S5 2026¢(A$‘g“¢) 33 A33 0 0 0 0
= (B) 109 423 318 155 90| 1,095
; — g HEREKRBEDE C-BCX)
Eﬁgf’ﬁi%ﬁ"?lfé 20255 (WFI74€E) () 108 380 326 192 1,006
B SR PR B (R EEEE ) A1l A4 8 37, A9 AS89

2/2R=Y



